=Fw/ANY BFEMYRL

SM7ETR10BR%E

- F7EHh | o= | siEm RERK HiE IKFIE -

hE wE | R O| BE OBE] e [ mm | mw | om [2eEee| B9
1 |[FAHBTKET84-1,785 M| | 3005 -3 T | Y | 6~9A a3 AR | AR HY
2 |BEHETKENS B | 2462 -3 & | Y | 6~9A HaE SRR | AR HY
3 |BEAHETAE904,905-1,905-2| H | 2,966 & % | HY | 6~9A IR | MR | AR HY
4 |[FiEHETE199-2 2] 633 x® E | HY | 6~98 | L\DOTE | 5% =8 HY
5 |FiEETE203-1 H 825 * FE | HY | 6~98 | L\DOTH | BF {8 HY
6 |EABTEAHET1853-1 M 459 * E | HY | 6~98 | L\VOTH | 3F I HH 5% HYy REBMELZL
7 |EAETEHHEN570 M 981 * = HY | 6~98 | L\VDOTE | 3% e #E &% HY REMELTL
8 |ErOETR¥F163 B | 1063 -3 FE | HY | 6~98 | LVOTE | 2F ISR HY R4.10.31
9 |FFEMT/IVEBSS5 | 823 -3 TE | HY | 6~9A | LV DOTE | 5% ;e HYy R4.11.11
10 |FHERTILF4 B | 1,043 * E | Y | 6~9A | L\DOTE | BF ®E HY R5.2.1
11 | EFEBTH /03601 2] 977 p-3 T | HY & R5. 11 | 54 ;e HY R5.8.24 ik
12 |FHEBTEEILS77 2] 976 p-3 E | HY | 6~98 | L\ OTE | 5% AR 7B [R5.9.15
13 | LERTR T E124 H 977 & = | HY | 6~98 | LV DOTEH | 5% = HY R5.9.25 3
14 | LiTETEEET3 B | 2856 -3 TE | HY | 6~9A | LWDOTH | 5F (e HY R5.11.24 X%
15 | EFEBTEEEI05 M 683 -3 TE | HY | 6~98 | LWDOTE | 5F FEHEER HY R6.7.26% 8
16 |And )IIETHEE 1791 B | 1,007 -3 7= | HY | 6~98 | LV OTH | 5F FEHRER Y R6.9.17
17 |FEiERTEE 1594 B | 2318 p-3 3 HY | 6~9A | LWOTH | IGHEEK| BHEXK FB |R752
18 | LiERTERES72-1 H 479 p-3 7 HY | 6~9A | LWDOTHL | 5HF Y =B HY R7.5.13
19 | LiERT/NEF487-41 B | 1,266 P TE | Y | 6~98 | L\ DOTEH | 5F (g HY R7.6.23




